ELECTROMAGNETICS | FIRST MIDTERM EXAM

Dr. Salih FADIL | March 22, 2012

#1) Given that O = (2x—y)d, +(4y+z)d, +(4x-2z)a,

a) determine a unit vector in the direction of Q at P(1,2,1)
b) find the component of Qin the direction of PT where T is point (5.3,—4)

c) whereis O the same as the unit vector of a, +11a, +10a,

. . = N . . _
#2) Given a vector field D=rsinga ——sinfcosga, + r2a¢ , determine:
F -

a) D, in spherical coordinates, at P(4.330,—2.5,—-8.660)

b) the spherical vector component of Dtangential to the surface of r =10at P

e

c) a unit vector in spherical coordinates at P normal to D and tangential to cone
0 =150

#3) Given a vector fieldﬂ:pz cosng&p +zsinga,, show that the divergence theorem is

satisfied over the closed surface’described by 0<z<1, p=4 by this field.

GOOD LUCK...©
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